
MAT 121 Writing Project #2 Spring, 2018 

 Graphing Functions by Transforming Basic Functions 

 

FORMATTING: This is semi-formal writing, here. You don’t have to type it out, but you do need to be very clear. For the 

formatting guidelines, please see Writing Project #1.  They're the same for tests and (face-to-face) homework, except on 

Tests and Writing Projects, don't waste time writing out the question details, because they come WITH (the cover sheet). 

Online Students: Bring your Writing Project with you to the testing center, and turn it in before you take the test.  Early 

Birds may mail the Writing Project to my mailing address, given in the syllabus.  

DEADLINE for 10% Bonus is FRIDAY, February 23rd .   Online students, bring it in or snail-mail it, with postmark by 

Monday, October 2nd.  Solutions will be revealed Monday, February 26th. 

Main Resources:  Chapter 2 Videos (and notes) and Writing Project 2 Videos (and notes). 
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Graph the function  xg  by transforming the graph of a basic function,  xf  .  

1.   72533  xxg   (Use      1,1 and ,1,1,0,0   as the 3   syx ',  in the 1st graph.) 

 

2.     132175
4/1
 xxg   (Use      2,16 and ,1,1,0,0  as the 3 points in the 1st graph.) 
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4.   131475  xxg  

 

5.   1124613  xxg  

 

6.     83057
5
 xxg  

We treat lines and parabolas a little differently. They come up so often - plus the completing-the-square trick – we 

sidestep the whole  bxf  issue and just work with     khxaxg 
2

  and        11 yxxmkhxmxg  . 

 

7.     1153  xxg  
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9.   982  xxxg  

 

10.   1745 2  xxxg  

One reason I stress point-slope form is that   khxmy   corresponds to:    11 yxxmy  . 

The "cheat" for completing the square:      
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http://harryzaims.com/121-all/videos/01-Homework-Videos/02-Chapter-02/
http://harryzaims.com/121-all/videos/03-Writing-Projects/Writing-Project-2/

